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Question No. 15
Ihe condition for continuity of /(x) at a point ¢ of its domain is

m (1)
| lam f(x) = f(x)
bm f{x) - ¢

lim f(1} - flc)

Save & Next A3, o
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Question No. 33

| — 21)7
Which of the following points are on the graph of f(z) =4+ 2 Jog,(1 2z)

9 (3.1). (1,0) and (3,~1)
“ (0.4), (~1,6) and (},-2)
J(0.6), (~1,4) and (1,2)
' (0,4), (~1,6) and (3.2)
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Question No. 27

- The range of the function f(x) = —x% + 1 is
o (-=.-1]
ol

o [1.w} D
L5 {.-hl'”
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j Question No. 28

The function ffx) is increasing on an intﬂ'valiiffor:xl, .;.'2 €/,

O ifx, > x,,then f (x,) < f(x,),
© ifx, < Xy, then f(x,) < f(x3),
©ifx; > x,, then f(x1) < f(x,),
" ifx, < Xz, then f(x,) = f(x2).
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Question No 76

walue of ¢ such that f(x +1) = zg(x) + 21.

1oa fie) = 2f 4+ cand glx) = 7, QiVe the
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Question No. 18

Which of the following inequalities ig false?

U 1
1472 > 1
\—I I S I‘

SR
o

——
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question No. 18 L8 a

false?

Which of the following inequalities i8
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U Does not exist
@ 2
o 1

G gwal] (godiuwn

G
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Cuesten ko §

. &
If sin@ - - then cot@ = where (P<3<00F
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- The range of the function f(x) = 5% is

Scanned with CamScanner


Ahmed Ibrahim Alshenqiti


Ahmed Ibrahim Alshenqiti


Ahmed Ibrahim Alshenqiti



Question No. 10

Evaluate bhm — =
I=-% — @

,.
8

l-'\

y

= 1
-
K

i -1
=
£

C)
o

e e S — T
il . SLIRE | ] el e By
o | 14 L B
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Total questions in exam: 40 | Answered: 1

Question No. 33

Which of the following points are on the graph of f(z) =4+ 2]og,(1 — 2x)?

2 (3.1), (1.0) and (,-1)
“ (0.4), (~1.6) and (1,—2)
7 (0,6), (—1.4) and (1,2)
’ (0,4), (=1,6) and (1,2)
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Question No. 18

—_————— - =
- I e

Which of the following inequalities is false?

¢
> 1.
14 x2 1
O-TSI.
& 1
<
gz =1
O 2 o
T"Sr+]
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If a € R, solve the inequality 3z — 5a < Yz +1), for z.

save & Next i ke
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Queshon No_ §

If sin0 = - the cotB = where 02<B<90°
T
|
3
'
-3
5
Save & Next 18, e
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Question No. 8

e e i ———————

The function f{x) is constant on an interval 7 if for i;,xz €l

O ifx, < x,,then f(x,) > f(x,),
Y ifx, < xp,then f(x,) < f(xy),
© ifx, > x;,then f(x,) > f(x2),
©ifx, # x,,then f(x,) = f(x3),

— |

Scanned with CamScanner


Ahmed Ibrahim Alshenqiti



If a € R, solve the inequality 3¢ — 5a < 1(£ + 1), for .
© (-o0,20 - 3]
. [2a + !, o)

© (~00.20+ )]
Y (-0, 2a4))

Save & Mext 1B, e
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Question No. 16

The vertical asymptote to the graph of f(x) = logs(x + 1)

O x=1
Q '3:1
© x=-1

'n:: Y:S C

Caun & New o ke
S8VE & INEXL 19y S

g
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If a € R, solve the inequality 3¢ — 5a < 1(£ + 1), for .
© (-o0,20 - 3]
. [2a + !, o)

© (~00.20+ )]
Y (-0, 2a4))

Save & Mext 1B, e
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Question No. 17

For the graph of f(z) = —=3(5)""* + 4, the line

oy = —3is its horizontal asymptote.
r = 4 is its vertical asymptote.
y = 4 is its horizontal asymptote.

T = 1 is its vertical asymptote.

o N T e g T R
- i SR i
Cawva & Mawt. | i
‘_q_il.l’L"f.:,\':".-\-:;"_:L\“E;'jv:imt‘_;ﬁ-. |

g
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Cheeition Mo 3

IEf(z) = (£ 3)r + 1) + c and the remainder of 7] i 6, then f{r) is equal to

e rr-2-1
@ -2re8
¢ 21 -27413
© .22
e
Save & Mext 1%, S
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Question No. 15

The complement oftheangle 60  is:

O
L]

X T £ = B
e R e g e s Ty e
Save & Next Aiiy ko ]

| -
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Tolal questions in exam: 40 | Answered: 0

| Question No. 14

| The expression (1 + tan20) equals

sec’@
| @ cos*8
U csc?0

~ sin%0

e
Caus & Mavt __41-\ cigeall
[ 2AVE O INCXL ;«—,..*.;f:m:e

e

Scanned with CamScanner


Ahmed Ibrahim Alshenqiti



R

Scanned with CamScanner



| Total questions in exam: 40 | Answered: 0

Scanned with CamScanner
™


Ahmed Ibrahim Alshenqiti


Ahmed Ibrahim Alshenqiti


Ahmed Ibrahim Alshenqiti



Total questions in exam: 40 | Answered: 0

Questmn No. 14

The expression (1 + tan?0) equals
' sec?0
Y cos?0
C csc?0

' sin%0

Bl peE et
[ J.,.'lL."“ "“ j‘imJ
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Question No. 11

Solve: 632 +7x —3 =0

O x=2+i orx=2-i
O 1 -3
X=- orx=—
3 2
O 3 1
F== @Y ==—=
2 3
W 3 gy

—
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" Question No. 10

' 2x

Evaluate  hm_— i

—
H
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|Ansaelt'd:0

- 40
Total questions in exam

/f//;///

Question No.8 |
| e/ W an interval / if for x3, X2 el,

The function fix) is constant o1l

Q ifx, < Iz,thenf(xi} > f(x2))
O ifx, < Xz then f(xy) < f(x2):
@ ifx; > x;,,.thenf(xl) > f(x2)
O ifx, # xp thenf (x,) = f(x2),

S — = L _

[ Save & Next 14, 5u

— |
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question Nc_:._'f__

x+16:1+13xis

jon 16
| The solution set of the equation

{5._, 5}
(5}
-0
{-5}
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- The range of the function f(x) = 5% is
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| _|x+3l
{ gvaluateé ,Et.l-s x+3

0o
O poes not exs!

| @ 2
| @1
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- The range of the function f(x) = 5% is

O (5,)
O (~e, )
© (0, )
© 14,0)
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If a € R, solve 'thé"ipeQuality 3z —

5a < 2(z +1), for z.
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Qo0
) yndefined

O -1
01
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Question No. 17 ]' Koy Wibpy 1 M,
Factor the following: ‘ai+ab - ar—rb
O (a-bH(a+71
O(a+b)(a+r) : .
O (a+b(a-r) C,
© (a-¥(a-1
Save & Next‘,lﬁl_,kn Al
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Tolal questions in exam: 40 | Answered: 2

e e i bt et

Question No. 7

r e T ———— L e e e ae  em

Simplify theexpression. /-16

O is not a real number
R

e

|9 4

|
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QuestionNo.18 . .

Evaluatehm‘r_s

-9 x-0
O |
6
6
© 1
R
1O 1
| 2

4
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" Question No. 16 o

I —

. Thevuﬁmlaspnptotetothegraphoff(x) — logs(x + 1)

@ x=1
@y=1
© x=-1
Oy=5
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Total questions in exam: 40 | Answered: 0

Question No. 17

For the graph of f(z) = —=3(5)""* + 4, the line

oy = —3is its horizontal asymptote.
r = 4 is its vertical asymptote.
y = 4 is its horizontal asymptote.

T = 1 is its vertical asymptote.

“E ‘u =, ‘L't AL i‘;‘*i:‘

g
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[ Total questions in exam: 40 | Answered: 0

Question No. 16

The vertical asymptote to the graph of f(x) = logs(x + 1)

O x=1
Q '3:1
© x=-1

Lh' 1.,':5

T = = -
3 .

vy '..‘:'.- [yt -i !
E_-J.'LL__':C.."'.'IL_',‘J E_- __‘p--t Jr——

g
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Questmn No. 14

The expression (1 + tan?0) equals
' sec?0
Y cos?0
C csc?0

' sin%0

Bl peE et
[ J.,.'lL."“ "“ j‘imJ
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| Question No. 14

| The expression (1 + tan20) equals

Q

sec’@
| O cos?0
U csc?0

~ sin%0

S
]

e A e S N A L
Cave & Next. 13, ba
i ‘ ’:?;. W ;,f:-’_’.\ AL }1‘-, ?,I.I,Jm'.} ]

e
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Question No. 15

The complement ofthe angle

60

-]

1S:
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Question No. 11

 Solve: 602 +7xr -3 =0

O x=24+1 orx=2—1
O 1 -3
== gry=-—
3 2
O 3 1
= rEY=—-
2 3
Wx=3 orx=-—

—
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Total questions in exam

/f//;///

Question No.8 |
| e/ W an interval / if for x3, X2 el,

The function fix) is constant o1l

Q ifx, < Iz,thenf(xi} > f(x2))
O ifx, < Xz then f(xy) < f(x2):
@ ifx; > x;,,.thenf(xl) > f(x2)
O ifx, # xp thenf (x,) = f(x2),

S — = L _

[ Save & Next 14, 5u

— |
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" Question No. 10

| . 2x
 Evaluate lhm —5——=
L S
O o
O,
2
@
2
Q

Scanned with CamScanner



.
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question Ni:_:._'(__ [—

x+16:1+13xi5

jon 16
| The solution set of the equation

{5~ 5}
(s)
-0
{-5)
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- The range of the function f(x) = 5% is

Sale & Nextlib e
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Total questions in exam: 40 | Answered: 1 il

Question No. 1

For the grabh-of- f(z) = —3'(5)1__2! -+ 4._,“ the Iil;{—:ﬁ'

O z=41s its vertical asymptote.

' © y=4is its horizontal asymptote.

’ O

T = 3 is its vertical asymptote.

0 y = —3 is its horizontal asymptote.
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Question No. 2

|
|
|
: Solve the inequality *(r — 1){(x - 2) <0
O reR\(1,2)

1 © xe[l,2)u {0}
: Q re R\ILEL

Y xe(1,2)u{o).

Scanned with CamScanner


Ahmed Ibrahim Alshenqiti
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; Evaluate b, 43

0o
' (O poes not exisl
IOE
1O 1

R e e A T

T
Cseslnlind by 05
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Question No. 4

If f@)=—2x then f)is
O not defined

O decreasing

O increasing

O constant
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Question No. 25

. " fr .
Find the quoticnt —. © = wherex # 0
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Question No. 9

Given that f(x) = 32%*1 — 1. Then f(~1) —

(@)
[N

o O
I DN W
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dﬁ:é;slﬁ,ﬂn No. 8

The Sllpl?]mént ﬁfﬂleangle - Op i is:
19 40"

© 150°

O 50°

© 130°
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Question No.33 '

=

~ Find the domain of f(a“) b e
| il ul V|zl-3

- o0gy s o),
o oy, o). .

Rl S '

a3

) ’:P-'-‘-_H_"" ' _"
m!ia ,,E,'-’-jﬂ,;..'?‘ o AL L0 2t A
(7 e fob ! b
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[ Total questions in exam: 40 | Answered: 0

Question No. 20

i >
g REEE =
Evaluate hm 1
| Q"3 X _21.‘_- 2

C
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 Total questions in exam: 40 | Answered: 0

Question No. 19

If f(x)=(z—3 +1 i 1
( )z +1) + ¢ and the remainder of }LE 18 6, then f(z) is equal to
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l Question No 20
| S

|
|
|

- Evaluate hm X' +2x° =
| X=-m b 4 __2x 2
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' Question No. 16

The solution set of the equation 3(x+3) = 3x — g is
* a8

- theset of req] numbers
= %

0]
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Question No. 17

Evaluate lim flil‘fi_lz = e
wex=d X+3 N
. 3
4
=3
0
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Question No. 18

If 0°<0<90° then @ is called

© @ straight angle
= aright angle
an obtuse angle

'~ an acute angle
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Question No. 14
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| Total questions in

Question No. 13

un | g | |

w |t

exam: 40 | Answered: 0

then sec = s

,Where 0°<9<9¢e
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| Question No. 15
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| Total questions in exam: 40 | Answered: 0

' Question No. 12

|

| The function f(x)z{

O k=1
U K=-1
" k=0
O k=2

4
X

k- x*

if x<1 . - :
| IS continuous if
if x>1
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E Tnta|_qﬁésl|0ns in exﬁm_zn _ﬁﬁi_n_s_x_vé_red U A S it __ % “____ B 5
Question No. 11

. Which of the following is a pair of inverse functions? k.

-I (&) = V337, where ¢ € [-3, Do) and g(z) = 22 — 3, where x € [0, c).
=+ ) =R r, where r

f{I} i o )“I‘"~r—3 where .’I‘E[[} DO)

= +-._ where » € R
where eER .

where £ € R, and g( B =

f[ I') =, whe nmwre m‘; and f}{T} —.

N
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Question No. 11

Which of the following is a pair of inverse functions?

_—

' PE=BE5, uhen
e ) r, where r - [—-3, oo)j and q(g:) = 12 _ 3. where T
== 3+ i 1 LE LS ‘ | ! | III .
oy g 0 here 2 € (=3, 00), and gfa) = 42 4 3.
‘ ) H-r_- | - ? M . I r'l “r ‘
L, where ¢ ¢ R, and gz} =g 4 2 re ¢
el ! T+ 35, where r cR.

b P‘ 1 I { (‘. ) !:’ r
- " -, I -
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Question No. 8

& |

L | b

W b
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"Total questions in exam. 40 | Ansv

Question No. 9

un

3
Find the sum o
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Question No. 10

csch =

cosh

sinB

.{H

sinB

cosf

sing

cos8H
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Question No. 7

The slopes of two paraliel lines are

different
0

equal

undefined
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Question No. 3

. 3x?
Evaluate lim =~ +I+]= -
T~3~1 x+4

C
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" Total questions in exam: 40 | Answered: 0

e

| Question No. 4

‘ . _4n6m4 1/2 —
Simplify ( o ) where m # 0

~ —8n°m3

Is notareal numper
1

-H
8n%m3

1
sempo B
8n%m3
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| Total questions in exam: 40 | Answered: 0

" Question No. 6
Factoring x*+ % gives

(x+ }’)(1‘2 — Xy + JIZ)
(x — J’)(:rz + xy + 3’2)

(x =) (x? — 2xy + y2)
X IE _ }13
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' Question No. 5

Writing -8+/-128 . _
- In standard form of complex numbers gives

S =1+ 42
0 4
- =1+442
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- Question No. 2

The complement oftheangle 45° js-

L)

!
Y 1250
45°

55°

&
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| Total questions in exam: 40 | Answered: 0

" Question No. 39

- Thevertex of the graphof f(x) = —2x2 + 4x — 1 is

| O (2,-1)

| = (0,41)

1Y (-1,-7)
= {n
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 Total questions in exam: 40 | Answered: 0

Question No. 40

If a#1i itiv
S a positive real number such that 5% — a then x =

“Ind)

" In(E
. n(a)
Ina

Ina

e

Ins
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" Question No. 1

k The solution set of the equation logg (x + 2) + logs(x — 2)=1is

O (3)
RONY,

O (3.3)
| B {+3}

|
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' Question No. 38
II —_—

| Solve: 2x% —13x 4 15 = 0 B
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Question No. 37

1
If f(x)=—-x i ~
| f(x) 3% +1, the domain of "l"('.’i-') is

7 [0.90)

1
[ 3-:1)

¥ Ean
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| Question No. 36

| Evaluate }HE (x3 +x— 3)=

| 2 |
s

q
|
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Question No. 31
' 2
Evaluate fim X T X*+2 _ =

| co x‘+6x+1_
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MKCL OES
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' Question No. 28 :
| e i e ©

" Solve |2x-3]=5

| ¥ {1,-3)
© {41
04
” {-1,1)
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| Question No. 29

- The supplement oftheangle 582 jq.

122°

130°
32
40°
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Question No. 32

Let a € R and f(z) = 0.90@-3a+)z—1 _ Give the condition
= (

| N |

_ “E(‘mel]U[Q.oo)
> 8€(1,2)
a € (—oo,1)
- @€ (2,00)
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Question No. 34

Solve the inequality

z* 4 10r 4+ 25
T+ ] 20
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' Question No. 35

Giventhat f(x) = 43*~1 4 1, Then f(1) —

O 17
SRV
16

15
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Question No. 32

Let @ € R and f(z) = 0.9(* -3+

_ 4. Give the condition on a such that f(z) is increasing,

O a € (—o0,1]U[2,00)
ac(1.2)
a € (—oo,1)
a € (2,00)
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| Question No. 30

~ The function ffx) is constant on an interval 7 if for y Xy €]
A _ 12 3

tl‘-.

| ?fxl > X, then f(x,) > f(xy),
?fxl S X thenf(x,) > f (x3),
ifx, = Xa2,then f(x,) = f(xy),

ifx, < xz,thenf(xl) < Jx)
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' Question No. 2
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- Question No. 21

———

| The domain of the functiop flx)=1
- (2,0)
O (o, 00)
O (_-OO] 2)

O (~00, an)

e

—log,(x — 2) is
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Question No. 25

- ITx+a is a factor of the polynomial f(x) then

o

Y fl@)=—q

© f(=a) %

- f(=a) =
fla) =0

C
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T Sl e
! E——— T ——

 Given that f(x) = log, (x + 2), then £(2) =

WS I o Ll N
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The degree of the polynomial 7 i o —-52) is

.52
Q 2
) 4
- 52

C

el cien
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QuestionNo.26

i
|
i RRRNL. iz TN

|

 The horizontal asymptote to the graph of f(x) = 3*-1 1 9

| O x=2 | |
Q V=2

| O y=3

Y y=-22
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Question No. 27 A
' 2
| . x T
Evaluate lim : T
E¥nd |x+ 1[
i_| B
|':_,; _2
U 2
B 1

Scanned with CamScanner


Ahmed Ibrahim Alshenqiti



| Total questions in exam: 40 | Answered: 0

l Questmn No 27 A SV A8
1 - 2
|' . x =i

 Evaluate lim_ 1 -

= e

I_.| 6

-2

J 2

1
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